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Psychology Test - 20

Q.1) L0601 & 60T R[HEUET OFHMEG CHTEHS M MTET. 3|6U6dT 135° THJ &1Q.&ITIT
Flenrauilev & HLOLIG MO LoMHMILD 180° HL4.&5TT Hem&Fulev & HLOLI6oT eV
S|6U6IT 6THH e F 60 GBHITES B LIMTEOT?

a) ILHPHS b) LGNS

C) OBOTHIPHS d) O H6TGLM S

Q.2) @ euGLILN6L 2_aTer nmevoreuaerfler &euflenaL LI 1guledlev
&HC6u0T61q. 6T6OTLIOUT (LNEOTLIMLD @ (BIHS! 116UG HUFTSHeLD. LN6TL MDD @)(HHS
25 QUG FLITMSHEYLD. 2_6TETITH 6760116V D H& 6UEGLILI6L 2_6Tem QNS S
LOIT6O0TGU & 6T 678G 60)60T GLIIT?

a) 34 b) 36

c) 35 d) 37
Q.3) WeMUIET epeUld @BeIT Selemnm &mGeor
o GOt TR MITH?

a) IBlevorevor )6y by UlG&FMEem 60T

0 2 6T8HTEHG d) 91,5853 Mmeor

Q4) Q&MHSSHLILLL QUTIHMNSHEHEHEHES JMM LIL LD 6TSI? LOM600T6U J&H 6T,
SHMOUDH SN TIGH6T, SaemL LB JTF &HTE6T.

a)



d)

Q.5)

FnMMI i: 6TELEVIT LD THIGHEHLD QI&ITL) SHEITITE 2_6IT6IT60T.
Fn MM ii: 6TELEVIT QI&HITIY HEBHLD LILPTRISGETITE 2_6T6T60T.
(LPLY.6) & 6T

i) Fl6V LILDMBIGET LN TRIG6IT TS 2_6IT6T60T.

i) 6T LOJ(LOLD LILPLDOITE ©)6V6DI6V.

iii) 6TELELIT LILPMIGH EBLD LD hIGH 6T TH _6IT6IT60T.

iv) 16V QGITIQG6T LOJMRIGHET TS 2_6TEIT60T.

wIgey ii, iv DL\ &Fif]

w19 |, iv L BIb &ifl

(WI9.e i, iv LOL_(HILD &if]

DTS 6l

Q.6) @S5S TLIfleL O SSLIL LD

O )OO

",




B s
\‘__'_P/

Q.7) & &AW Qmdluiev 253 6redTmITeL book are old 6T6TMILD, 546 6TEOTMITEV
man is old eTeOTMILD 378 6TEOTMITEV buy good book eT6dTMILD QILIMT(H6IT 6T6vf 16V, are
6T60T LI 60T T8&&F U QOITLl 6T60T60T?

a)2 b) 4

c)5 d)e

Q.8) 15-46,12-36,9-28,8-25 QUITHSHLDMMSI 6T&HI?
a) 15— 46 b)12-36
c)9-28 d)8-25

Q.9) Wletreu@sld erevor QST L N(HLIL L 6T600T60600TE> & IT600TS.
37,30, 25, -, 21

a) 23 b) 22

c)24 d)21

Q.10)

a) 55 b) 52
c) 49 d) 53
Q.11) 371, 516, 443, 263 LOMMILIL_L_ 6T600T60)600TE & ITE00TS.
a) 371 b) 516
c) 443 d) 263

Q.12) e(H LeTerluflév QoM SLD 100 GUIT 2_6Temeor . jeuserflev 10 F&HaTs 0
AT 2_6Temeory. LIGLD 2_6aTemeusserflev 11/18LIMIE, LOT600TEU [JE6IT 6760116V
L meoorelUIT 6T& & 6emeoT GLI?

a) 40 b) 44



)35 d) 46

Q.13) D&G&ET &MTeUeL SienmMWIL LD (NHSHWILDMTES TH FTLIMTIE G LD LI6voTL
a) IDS\LIL]
b) GBHFemILD
c) &b & 6vr60T
d) 2_ev&Ewe6v I Mley

Q14)A:B=3:20mmInB:C=3:46e60Tm @QHSHTL A:CaHMEGS FLOLD?
a)l:2 b)2:1
c)8:9 d)9:8

Q.15) L0&\LIL] &sITevorT ?

Sin%2 30° + cos? 30° = ?
a)o b)1
c)2 d) 3

Q.16) LNedTeu(HLD 6T600TH 6116V 6TIHE 6T600T 24946V LG @)6L6VITLNG AU LI(HILD?
a) 63810 b) 537804
c) 3125736 d) 35718

Q.17) UL &H 6L el &GN 2 66T @)L 5360 266 G55 TevorLd?
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a) 30° b) 45°
¢) 60° d) 90°

Q.18) BLh & 600TL_6U M MI6T & H UIMFLDMTETem &8> &IT600TS.
a) BIsLD b) &) evor LS 60T
c) Blevr d) &SSO

Q.19) GILIGDOTEOOT 60T 2_WTSH MG 3| 6U6TS 6Tt HF) 81D 6Te0TE
QFMVVLILILL &I 3IHMES 3J6U6IT H60T 6T60L_6MWIL] LIMT&HEGLD CLUIMTEI, H60TS!



2 WJD F&INTSH @) (HEH&HCeU60oT(HLD 6T60TE G\ & MeoT6oT TeiT. @) euadl(hH
FaDOI&6TE BT USFEHGWD dnDmi?

a) 3jeuerflesr smmmi

b) LODD & D)

) O FaHeMU|GL

d) 6TemH LD ©)6L6M6V

Q.20) @@USHGWITFTLD BTHMTeoor(h 2, TINLN& LD eUIHLLD?
a) 2001 b) 2000
c) 2101 d) 2100

Q.21) @ CHTLLSH6V aliflem& & @ 10 IDMOFLD F5LD 12 6Uflen&F&H6IT 2_6iT6TeoT.
@ evor(h) LOJMBISEHE G @6 LILLL STy 2 L LJ, CHITLL &5 60T 6T6L6VITLI
L&D @@ WLLT &medlwimss el UL IQ(BHSTeL G5 TL L &) 6o

BerLnmeorsi?
a) 20 LY b) 22 LS
c) 24 1O d) 26 LO

Q22)20-2=20,25-4 =50 ommitb 30-8=120,24-6 =7
a) 8 b) 72
c) 55 d) 12

Q.23) 01/12/91 60101 @MU MHMIGILDEmLD 6T6oT16V 19 FLDLIT 199T6UG! QUHLLD 4
IS QF6IAIMU HPenLDWITETS 6THSE CHHWTEH @) (HHEGLN?

a) 31/12/91 b) 24/12/91

c) 17/12/91 d) 26/12/91

Q.24) 441:462::841:7
a) 870 b) 880
c) 871 d) 881

Q.25) GauMILIL_ L 6p60TemM CHTHSI 6T(LDS!S.
a) 9 blesflWld ) HISSHBMSHLD
c) Q&FLhLY d) LN&semer

Q.26) A uiledr Sevoreu B. GLoswilh C Lommith Audledt Sl D eTevflev B8 @& D eTedT60T

2 Mmey?
a) LO(HLOG6IT b) 25N S



C) LD&6IT d) A5

Q.27) &(H 6UGLILN6L 2_6T6IT LOTE00T6U T&H6IT 60%, LOMeuoTeN &H6iT 24 GLITT 6T6vfl6v,
I6UaGLIL60 2 66T QLNMTE S LOM600T6U LOTeooTeN| UL [F&561T 67858 60)60T?

a) 50 b) 48

c) 58 d) 60

Q.28) @ (LNEBEMT600TSHH) 60T LIS 8:MIGH6T @) Tevor(h) LITIE 25 & L0IME S 60T e
G601 LITLIL| - B SHLOMGLD.

a)3 UM b) 4 LIMKIG

) 2 UM d) inmmmLdlevemev

Q.29) Indians can adapt themselves in any situation. “ADAPT” 6T60TMD 6UIT[J&60) & & 85 T60T
QUITIH6IT

a) Follow (Q& ML (HSH6V)

b) clever(ymleurmerfl)

c) Adjust (625 SILIGLIMTSH6V)

d) choose (G5 HO&H G S 6V)

Q.30) LD6IT B(PSHBH LD,
a) 2_L_6oTlq &l60)6T6 & 6T GG TEvoTL Sl
b) HMTLOGLOMTET 6lemeTe] 86T 6 MHLI(H &S0
C) SIQUMIGEVSHET 2_60)L_UIS
d) &IT600TL6V56T S| MBISUIG).



